Directions (1-10) the following passage there are . (1)ery (2) not
blanks, each of which has been numbered. These | (3) begun (4) made
numbers are printed below the passage and against (5)soon
ko mphases are suggested oneof hich | S (1) anctioned @) fsered
i i ok cprpray i h i | (3 e ) cooked
s 5 bur
A vt shane 1 5.1 sl deviceto e |80 (kg @
Gl b (3t o ot s, o et @ dop
bowing o pevg ble | (D irec @ pies
 bive been the fns o |
b b oo o | @b
mobile transactions has. ided the much- Qg e
e e bk szudymazgga?ggm T
Mobile banking (1) you t t alrg (it ) attempis
e R 08
e i umpemm @ there
Solny ity e | (0 D

For ), Bank's casho-mobilesenvice 9 |

ihe remiter an the benefcary along wih differeat

PINS to ach. The remite il e fo mesage s |

PIN to the beneficary who can then use both PINs

and his mobile numbe to witdraw cash from the

respective Bank ATM. The service is (10) bt
i vl

o TR

(5)inaccessible
Directions (11-15) : Each question below has two.
blanks, each blank indicating that something has been
omilted, Choose thesetof words for each blank which
bt s the meaning of the sentence as a whole
s, the dengue has put
outhern disticts on high alrt and has been keeping
mx e

e
(3)epidemic — feet

() fever — hinges.
(4) mosquito - ground

llneed

aJava-cnabled handset.

. (1)longer @) mueh
(@)anymore (@) doubt
(5)sooner
(1) become @) been
(3)changed (@) made.
(5) trnsformed
(dip () stand
(3)wash @) touch

(5)pick.

T

. The new-age scooter is perfe as 0

Bl Cialigh e il
“)vchmlc—llw (@) not -1
well (4) neither - nor

et ity

he police a g i duping tele-
banking customers and arested 10 persons.

(1)told - mastering (2) busted — specialising



(3)seized — innovating (4) caught - dealing Certain words! group of words have been printed i
.

(5)artesied - seting Dol 10 help you locate them while ansivering some of
. The amesied persons were oo SR e
in judicial custody. mployment is the problem of cvery modem

(1) demanded  persun ‘ o v indusiraized naions ar ot abl (0
(2)questioned — sentenied znmun]ahfﬂr:vuynne Fouawmgm:mnvcnmua\
s

(3) taken  ef st G
(4) produced - remanded. strategy of creating cmployment, government
I SR
O o o O R
At mi T g ebates and many other fciies so tht they focate
i apeoming plnts onthir o, and thercy crete

H

e Moo o 0

punctuation, i an ey scem to promisc, as the profts of such, foreign

. Although a dmm md that the test results/(1) of five investments are carried back to the parent company.
o coutmed e s bl asbrSel) | S5 C ey o e s T
Ty sl e o 4
T o st ) sonfse tht ey m\ et o vorking s condion. T s

. Toaking or(1) 2 has) ‘

meeting.(4) No error (5) o b ity mpluym:nl s

o un their own show.

Financing the poor to start their own lile ventures
elevates ther sense of pride and self-respeet. It offers

a way out of welfare dependency, not just {0 become

never been an casy job. (4) No error (5)
One could nov(1) imagine sriking/(2) this kind of a
bargain/(3) last year o the year eary.(4) No eror (5)

e monsoon showers andi(l) the fell in

eimpermure/2) have brovght 3 sl on many | vage slaves, but o open a slore or s 4
facen(4) No eror (5) | e b, el b o e
: I gives the
{hey, were(2) trested 1o  feast of some chidren’ o urp.gju.wnu ‘would not be hired because
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industry based employment. It sl et
people gain self- confidence,step-by
Obvioslyselcmployment e it bt i
cases it is

poor ‘

carry on their shoulders. The policy needed for the
eradication of poverty must be much wider and decper

2. Which of the folowing is a resson focign
e 5 o g s o o

et
00T prnt company pays l he proi s s o its

@0 s s i
the host nuton; athr 1 goes back 10 the sharc

policy forthe p
“The real eradiction of poverty begins when people |
are bl to control their own fate. Funrpzuple are like
bonsai trees. When you plan e ced of the
tallst trce in a flower-pot, you get 4 replica of the
tallet tre, only inches tll. There is nothing wrong |
with the seed you planted; only thé soil-base tht s too
inadequate Poor people i

the poor can
ruy and creativity, poverty will
disppea very mu

(90The cnploess of e pient company demand
pay ffom profis that the companies carm from

s
6 The bt umedby s i s o s o

provide for  anything beyond the  salaries of
employees.

(5)None of hese.

33. Whatisthe tone of the passage ?

(1) Offensive. () Satricall

(3) Analytial

) Spec

Which of the following is an advantage that

sclf-employment has over industry based employment?

of wor
e e L NEANING 1o e |
Word/ group of words printed in bold as used in the |
passage.

RIGID
() Unstructured —(2) Flexible
3)Soft @) Gentle

(5)Calm
STEP-BY-STEP
(1) Allat oney

(2) In quick succession |
(@) Ina nuishell
(5)Onee and for all

. OFFERING : g
(1) Stealing. (2) Permiting |
(3) Refusing (4) Protesting
© Questioning

. LIM]

studymateriaieySeltenployme
L4

5)Sarting one's oun vnture s an casy ask and
i

y
fnancers are readily

nt makes one a master of other

people and thus Satisfies their noed to control
thers.
(1)0nly(©) @o
) Only () & oy &y s
(S)AIL(A), (B) and (C)

35, Which of the flowing may.be infered st

(A)s:lrm\moymnx sy bt sy senghens
of the cauniry

®) Q:\’mpluymml e gty

(C)As a sty of providing employment, sl

A S e e e |
pyinedin o s s he e

REMAIN :
(1) Left-over ) Stay |
(3) Stagnate 4) Continue
(5) Linger

. HIRED : |
(1) Allowed (2) Rented
e (@) Employed
(5)Del
(DMt (@) Finish
@ Cap (4) Decrease
(5) Barsi

ot @) Only (B) and (C)
& oy (a () Only (A) and (B)
(5)Only (A) and (C)

36. What does the author indicate by the example of &
bonsai tree?.

(A)When provided the right kind of financial help,
poor people can flourish
(B)The poorpeope ar as capable 1 e well-ondo

{L7(‘nnv=mmml i) cmploynen can hep
e pox s e hi v o

(1)Only (A) (2) Only (B)

& only (ymd @) (@) Only (A) and (€)

(5)Only (B) and (C)
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37, The auhor claims it weifcmployment is | - ()isan cxcelience way of

(Dar et wayfx
neﬂmnx:quucd 5
| fneas group needs to reform 5ot iy

g
‘“m““'““‘"*“““ et matkaing. ssegis, but oI5

o @ onty ©) | o
DoE o Gom®mi© | @ Cvi‘idwl‘gu it
(Houy ®) | Bboieme
35, Wi o the ullowin outweighs the crployment Cadi =
beneiits tha forcign | onent S orrebon

(g “‘"““‘“5“ el L “""‘ ool (0 lchallm\gcdhlmluymmwcmnumimmymerwmch
b ncw had not been issued {0 hi.

e | had not been issued o h
et v bl than the host_ mations’

|| puduoosng issued 10
3)had notbeen issued for
e e ot b ned o,
(5 No Coestioneied
Directions (H-45): In each of the sentences give
el 0 b, nn‘n eeined Whih o he

DRI

o
i s 0 b 1 .
e m e e st meaning of the
3. wmcr.oﬁm following may be an appropriate fitle for | undertined phrase , as used in e somnse Ynane of
Wi Sarordiay o b o e s
0 Adtessing  conventonal  employmen ik Igtg;hzavmw lone of these

developed nations oy ot o stand b bl
) omezies and approsches o enndicaing | bk

” povery | Cyinbissbsence @) inbis resen

() Limitations o industrial employment ) inanyone's sbaence (4) in cveryone " presence

(!)RnleM\ehcl!\p\uymemmbﬂdm;unemplwmn\x |
ind eradica

5, 1o caled o e out differences and bring
bout i between confliting points o

o i

o e TRUE s prthepasge? | (Vcule @) arate
e et ooy o develaping mmpm @ vowou
bl e

@Self. coployment s o a8 gamorous 38| Rl Rearrange he following 5ix
| oo w, onon e
sequer aninglul paragr

@) Small. sl mdusiies produce s much x| v e g o
o 25 bi

‘aste s big industries. (A)Owing 1o these dilfcutes, the prospecs of the
(5)None s true bakig o b v incertin and caused
s 414 ¢ Whichof the phrases (1. (2. 3 |
4 given below cach sentence should replace the | (BA T rogrsively growing balance shet, bighet
irase prined in bold in the sentence fo make it « of credit expansion. and fu:usvnhnmm!
B ammatically correct ? I the sentnce i coreet s i o bve el making Indian
i en o ot et mark (9 e | banking vibrant and srong
thea | Howener, amidst al i chaos Todi's banking
a mm.n,.g good Hobbies are an excellent way of evtor s, been amongat the fow o maintain

g the stress of daily living. reslince.




s1

s

(D)indian banks have already begun o revise their
‘growth approach 10 take advantage of these new
opportunities,

(B)In the recent times the world cconomy has

of these being collapse of banking & financial
institutions.

() The way forward for the Indian banks is 1o
innovate to tak

3
. Which of the fnllawmg Sb«\u[d be the FOURTH

sentence afer the rearangem
It Do s
@D @F
5B

. Which of the following should e the SECOND

sentence afer the rearrangem

WE @F
@D @c

©A
. Which of the following should be the THIRD

cangement ?

me @A

OF @D

©B

- Whchot e ollowing shold besbe LAST S1XTE)

e e
)B @b
m c @E
Vhich ofte {anvwmg should b the FIRST senience
the

Ge
®A

55) : What should come in pluce of | 51. Which of the fllowing is the Iargest? (You are ot

Direc

queston

s%ordor6755 -2+ 1687

s @ 159
@ 152

(Naneat hese

. (5568 + 879 42 x zr o

3256 2)4
@ @16
(INone ofthese _ s |
VIF 228 4 wif7 =

@6
@256 @4
)56

(70 + 1003

©49)*x 0343)" + 02401)°
m3 @1

@1 @7
(5)None of these. |

5% 072025+ 001 = (27 25
3 @ sn?

@81 @9

o1

Nt ot e lloving s second st
1386~

m!(m—xmstl‘ﬁg

001 -set 1z

@364-213
(5130 461+ i85

studymatenal!mz
iy

59, The cost of 8 dozen of cggs

Q@Esx1) + 6
4) (28 x 78) + 56

mui»x 15) + 42
uu~71

Whih o e g he g e
e 0 calulate the exact vale

o3 alnw] o nmm] ;

o)’ o e
o1 )
G
- .
i LT
TR

Which

o 2ot s K"/.nlmnlppmﬂmlkiymumn)f
3 @4

@8 &
&5
iections (61:68) : What will come in plce of
o Pl e
669
mnm @7
@ 1169

(5) None of these.



L ases 407 deas 34 345 7

e ‘
3)3r (4)323
(S\Nnmccfmue |
L
(5) None of these
e
ok ‘

[€
(5)None:
i (Ewm + In the following questions two ‘
equations mumbered I and 11 are given. You have

| = Ay prort

is three times Pratibha’s present
i irgenth of s faher’s present age. The
sam of the posnt ags of all o o s 150 years.
e betyeen Pratibha’s present age

36 yeas (@) 64 years
(4) Cannot be determined.
O Nomeettness

. What e il you i f ety o st of

2340 is subtracted from four-ninth of square of 36 2
M9 @18

)18 @-9

3

. Varun gt monthly ncrement of 12 pereetof P
is % 7800

monthly Salary. Puja’s monthly salary
Varun's monthly salary before increment
6400/~ What amount il he cam i four mooths afer

Solve both the equations and— ‘ (229344 @294
@R 28434 @ T asaa-
@2y 5)None of these
(@xsy ‘ Diretons (7680 Bk of he gesions Il
eonsisis o sements i

and 1 given belonw i e s e
datg provided in e statemenis are suficient (o
Read b

6
1L 307k 5y)=489
68. 1 (44122 -111=(15)" ‘
I 2157 +(6)° =260
37 +4/196+(5)" +4% ‘
o

71. A man sells calculator at the rate of ¥ 250/- cach
which includes a profit of 14 percent. What amount
n in 19 days if he sclls seven

o

72, Circumference ofa Circle-Ais 17 umspmmmr.
S el vl 0k e What
of another Circle-B whose diameter is half the

Tadis o the Crle-A?

(@) 156 5q.cm.
s (@ 61659, cm.
(5) None of these: .

Givesnswe () e dt St 1 alone are
the whil

Givanswe (1t e dea St 11 alone arc
10 answer the queston, while
i i St 1 sl e ot

suffcent o answer the quest
Give answer (3)if the data n either Statement L afone.
or in Statement I lone are sufficient

et i

Give answer (4)i the data in both the Statements |
sl et sfficint o s the

ques

Giveanswer(5) e i et e S a1
ogether are o answer the
question

Whatis the minimum passing percentage in a sst
1. Raman scored 25% marks in the test and Sutil

scored 288 marks which is 126 mor than Raman.
‘marks less than the minimum




T ooy gt s o i among i v | 84 Wit is the. avenge. sumter e of enpioes in
o e Vi S o o Accous, Admision wnd. Reseuch ot
ke clyulalAmn,Sumuandelyn&(kg together?

wverago weight of Raju and Pratap is 72 kg | (131003 Qe
Rl S i st v | a2 @174
) Noneorthese
1L Average weightof Arun, S Vinayand Rajois | 45, What i the ciffrmce berwoen the ol e of
T ol Sl 70 i o Ko |l A, R bt Adnision
Vinay is 46 g, Al of them, memm T | topuher amd the toal mmbes of o
9. What is the respective ratio between the length of a Accounts and Exami nn dc,vumx:nx together?
stnle el s s (221
the suare i $76 sq.om and heareno e, (33300 32008
P () None orthese
Tt g eI e e e ) Dirscions o) s 1t e carefdy 10

80. What i thesmallrangle of a parlelogam | irection
L 3:5:4ad Number of Research papers and Aricies

the Lagerangle ofthe paraleogram is 34° i |
I Largs gl of e g s 3 mor |
Dire Sty theflloving i hrtand |

e
i
i it o o
ot s of Eoploges - o
P i e L D e P T
[ ———
| e S

| Necta in Educon as compared o the number o
| Resoarh papes that were pablished by iy o
Eduforms 2
M52 @4
| Qs g

81 Nunberofcmployees i the errmenof Ackii
s e approxmtely watprcnt mor e | 7. What i the it bty the ‘ol mumber of
i of oy o i Rescarch papes pulished by Anand, Viay and Nects
@39 @29 || togetirin Educonsnd the it ks s
an @19 | e by Mokan, N ad Kot rogate
@iz

82. 130 percent o the mumber of o emplyes ofecarh e @
depariment s fomales. Then what i the sumber of | (333 @ %
mal employces in he rescarch dpartment 1 | ONoneorthese
1343 @ 1232 | 5 e it i g b of s
O @ 1242 apers and Arile together i
5)Noneofthese (and Vi

5% s of enpoyecsin Eaminmion dearmen s (3 e @ Mohan

What persiag of the ol mamberof | (o) sy
i 't e o o o Academic | 89. What is the average mumber of Rescarch papes

affis ogether publahedbyall e ix chostogeteri ot
(169 @65 D @16
@6l @55 @is

@51 . Rt i




e o ma e

90. Totsl number of Research i i
together published by Moh: irack i
pproximatly st porcnige of e - e

@ 11139

NewEm
(1145 @
@137 @132
)12

s ;- Sudy the folloing sk
Garefully 0 answer the questions that follo

(s,m,.,m
Vit e e o o b ol e e
‘ (20 e
oG B
et
Pirec s iy

et th qucons that ol
 school there are total 120 staff mernbers and 800

in five different ericket matches

England

RUNS SCORED

et 65
| iy
S ot O of e o s of
5 peen g Tnmy et of e
oo s canpk 'y Hid R i
ek oty Engi. T ot ot
| i of by can ps iy
o o i g
o e s . P ot of
e ool i
5 e e

Hindi, Remaining
worthird of

boy
Hindi and English and

50 who can speak both
e of i (sie) who cn sk bt
1 Mach 2 M Ml M szudymazgna‘(’"‘" o R
Match
74
1. Tod s by st Al n Mt O
togcthce s o ely it pemeniags o of gils (sadent) s what perccnge of
{ont s scoed by Englnd i i the fve -l f,,z“,j,m‘:"mgf,u‘“‘“wm{}ﬂ Aotk
opst i
w4 o8 e o
@i LoE] o Nomeottbess
I
98, Whtis thedifference btween th ol numbee o female
92, T which match is the difference between the runs
Sor : adminsativ offcis and emile ecter and
M 16 o
@) Match 3 ‘ DN @
(4) Mateh 4 (5)Noneof these
M s 99, What i the respectve st between the ol sumber
e o st by ndi s QT 1ERR s the i of oy (Bt i i
Englnd oelr i highestoncs? speak Hindi only ?
(M)11:56 @ 1354 2
3)13:56 @ 1154
(5)None of these-
100, What is the total number of male adminisirative
offiial,female teachers and girs stdent) who can
o4, o o respctive o betwee the uns sorsd - speak
o St Auiali n Mahl and | (125 @ns
England in Match-2 ‘ @127 @ni
W37 @113 (5)None ofthese



101 Wit should come nes in the folloving mumber

S isasa1aas3215053211 |

i a8 )2 |

@5 5) None ofthese

- onsde ive sl 8, B, Cvand . i having |
Cisolder than |

Dirctions (111-115: Sty e olloing normaion

“new banking systems” i coded as “ss p na”,

“officer in uniform” s coded as “or mu at”,

“mew bank officer™ is coded as “or bk na” and
coded as “bicat 5™,

e
oy Aamd
()00 Ak
(oot e
Poin .1 3 mses Noth ofpint A, Poot € 3 |
e e o D
ot o

of the. lolluwmg mmumm is point E, with reference |

(2) Only E, Band A
() OnlyE'and B

@ SoutBast
[OF

i K stand for ?
(1)ne (2) systems.
(@) officer o
() Noncoftiee

112. What will the code "ss mu stand for ?
(1) banking officer (2) new uniform
(3)uniformm banking () in systems.

(5)uniform systems
113, How will “new officer” be coded ?

@por

©)ss
114, Hawv.nl ank offcs i i bocoded
(

1041 o of e ing o, A ctnds 15 Fom e b atormu
f and B sands s from e, C who stnds cac mbin @atmussor
between A and B is 7t from rght wm itheoul | (S)bkss
s 2
21 @17 13) wudymatéﬁﬁg'@ (") or B)ar
@1 (5) None of hese E Om None ofthese

105, the father of Q. B has only wo childrn. Qisthe |°  Dyreckons (116:120) - Eacr of vy
biother O R i e oAl G RA @it | uuions boloy Bopmiehl GF n uestion i

renddaughrof P it e of A, How 5 |
st 007
@ (@) Somin-law
@) Brother-in-aw

b
(5)None of hese.
Directions (106-110) : In cach of these questions
relationship bevween.different elements is shown i |
the statements,

The s lloved by o cochisions.
Giveansver (1) f nlyconclusion s ‘

ied in the
icicnfo answer e uesion, Read

o —

(hosoomc ()10 45 b i et e e
sufficient 10 the quest

il the dam pigh i i
ient to answer the

5

Give answer (2m et St 1
qnmnm

i o
Give answer (3 )Vllhc data in ether Statement T alone.
or tatement 11 nhmc are suffcient o

Snawr e e
i e 4 it B et e i
i st b0t s

Give answer mu‘ u.g m. in both the Statements 1
logler neccsy 1o
xnw.rnhequz stior



Us O . o 4 B i Coant b
professionsdoctor, architeet and _engincer(not
necessasly in m xamc order). Who s & doctor
‘amongst these th

S i A st s
1L Either A or B adoctor, Either A or C s a ot
. How many females

are there in the family of four

@aq

@x
(o1
124.Who amongst the following are  immediate
eighbours of §7
DT iR @) Qunap
(@ RandP

@
(S\Nun: )

L s the father of S. § isthe sistr of Q
1L R the mother of Q.
118, Wi s he code for“wring pape”
Read a paper” s writen as “817". “Thinking and
Fa i
with pen” s writen as “453", "Paper and
plt s st o 129
119, A, B, C, D and E are siting in @ stright line facing.
Nort Wi hidfrom ight nd o e ?

B o rightndof e ln?

Ow

) Rone ot

Directions (126130 Sudy the

information carefullyand answer the given ques

Eight frends A, B, C, D, E, F, G and H are sitting
3 il (oo fecsurl n th same orde)

+ Elis an immelist aeghbous of boh B and .

1556 s e o b &
Neithr o Dsitt oy o the exrne cadsorid

fguedalles (LS
ther Coe s rmnetii = e

|+ Only one persan it between
R — is Ne'sbitday? mm e folowing is an immediste
AmdH?
1 e s R L @B @6
50 day aflr Tuadey, b bor ooy djﬂﬁnhzgnm% 5rs
1. Kiran corretl remembers thet Nea's birtday is 12" -
ona day after Monday, but before Thursday of the
same week.
Directions  (121-125) the following.

Study.
m/ammlmnﬁdn/u”}nnlamm’tlmgﬁwﬂwﬂlwﬂs
Seven people P, Q. R, S, T, W

T

following s H related to ollowing the same patiem?
G @A OF
B

gt Tin i Norh ot esssrly i o]

R st e oftheextreme e of e e
0 i

of A
(1)Second t the left of H
B moctueiefioiC

s e et o X
Qsits to the immedite et of W.

ki bo g att
) T becaiiol

12111l he people e made 0 sit i phubeical orer |
from ight 1t e posions f b manypopie |

will remain unchange |

(1 Five @om e i
() Non
B e s ol e
(1) Four @) Five @ T
@ 0ne (5) None
B8 Fou of e g v r ks 8 cri
sed on the informa

129, D with respect t the position

(1) Third 0 the le
(3) Imimedinte right
(5)Second o the et
30. Which of the following is rue with respect o given
T —

(1)Only two peapl st between D and B

(2) A is an immediate neighbour of B

(3)Csis thirdto lef of H

(2) Second o the right
(3) Fourth to the let

L i Tk m‘...! «o o |
group?

ms ar

(5) None s tru
Directions (131-133) : Four of the following five are
alike in a certain way.(based on the position of




it n he gl lpabtia serie) o |
e

lgialy /.,uom Shigam g
regard

?
@ ABCW studymaterials. conclusion 11 follows
{5 AbcoerT 2 452 mswer (5)ifboth conclusion’ and conclusion 1
133, (1) DEL (2) FGM. (3) BCE {4 Tollow.
SIE () KRR 134, Statements © No hmk is a school. Some schools are

Directions 134-138) ¢ In each question/ group of
questions belaw are twolthree statements followed by
e conclusions numbered I and IL. You have to take
Uhe twoliee given staiements 10 be irue even if they.
seen o be al commonly known facis
nd then decide which of the given conclusions

sBmc colleges are defnitely not
ools.

AT b g solges 8 8
possbiliy




135. Statements : Some carts are trolleys. AH baskets are
troleys.
Conclusions : I Atleastsome baskets e carts
IL Al trolleys are baskers
Statements : Allfuits are vegetables, All vegetables Wt

36.

143,

How many people scored more than E in the

0 Nom
) Three

@one mwu
)¢
Who amongs he Whsuies kst i

o
Conclusions : LAIl fruits are plants (”C @8
11, No rootis a vegetable @A ) Either C or B :
137, Conclusions LN fuit s 8 roo [ MeRg of e i percnases may corely
e | T
e o™ oy
13 St S s e e e | (1055 Qo
e <l frmaton
oo 130 e e Discons U150t ejolloming i
2 ctlatony ez defasiety o Eight pen,\'l are. ill\mg in two parallel rows

Dicion 13- m> e e ol o |
1y and answer the questons which folow |

‘containing four people each, in such a way tha there
e conl dliumz between adjacent persons. In

RST

e fucing South, In
W2 P, QR

I |
building, faving i flor numbered one o 5 (|
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